BHARAT HEAVY ELECTRICALS LIMITED

RAMACHANDRAPURAM, HYDERABAD-32

Township Administration Department

SCHEDULE- A

PRICE BID Tender Notice No: HY/TA/OT-06/2022-23, Dt: 18.06.2022

S. No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
1	Larvacidal treatment at all the breeding places with required periodicity covering areas as per Annexure-1 atleast once in a week, in and around the township and with in the period of mosquito life cycle to arrest the reoccurrence of breeding using specified chemicals such as Baytex 1000 / M.L. Oil / Pyrethurm emulsion in a proper effective dosage for knock down and preventive treatments all as directed.	12.00	One month	9310.00	111720.00
2a	Fogging the entire township with diesel mixed pyrethurn 2% extract during the mosquito density season for the destruction of adult mosquitoes during the migration time at the open areas around the residential and non-residential buildings checking the entry into the houses and functional buildings all as directed (Van foggers / approved movable foggers, four numbers must be used during operation to cover the entire township in four days).	12.00	One operation	12740.00	152880.00
2b	Fogging in General Hospital premises in township with diesel mixed pyrethurn 2% extract during the mosquito density season for the destruction of adult mosquitoes during the migration time at the open areas around the residential and non-residential buildings checking the entry into the houses and functional buildings all as directed (Van foggers / approved movable foggers, four numbers must be used during operation to cover the entire township in four days).	12.00	One operation	2744.00	32928.00
3	General anti-mosquito / insecticidal spray for destruction of all kinds of insects such as mosquitoes, cockroaches, bed bugs, cateerpillars and lizards etc, with alternate usage of safe chemicals formulations of Baygon concentrate, Malathion, Nuvan, Cypermachine, Feneveirate, Deltamethrine and Pyrethrine basing on the immunity level of the pest all as directed for residential buildings.	3000.00	nos	1.96	5880.00
4a	General anti-mosquito / insecticidal spray for destruction of all kinds of insects such as mosquitoes, cockroaches, bed bugs, cateerpillars and lizards etc, with alternate usage of safe chemicals formulations of Baygon concentrate, Malathion, Nuvan, Cypermachine, Feneveirate, Deltamethrine and Pyrethrine basing on the immunity level of the pest all as directed for non-residential buildings.	50.00	each	4.90	245.00

PRICE BID Tender Notice No: HY/TA/OT-06/2022-23, Dt: 18.06.2022

S. No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
4b	General anti-mosquito / insecticidal spray for destruction of all kinds of insects such as mosquitoes, cockroaches, bed bugs, cateerpillars and lizards etc, with alternate usage of safe chemicals formulations of Feneveirate, Deltamethrine and Pyrethrine basing on the immunity level of the pest covering General Hospital Male ward, Female ward, Surgical ward, Gynac ward, All special rooms 12 nos, New OPD 1st floor and ground floor, Old OPD, Isolation ward, Labs, Operation threator, children ward, Stores area, open pockets with in the premises and all office rooms etc complete, all as directed by Engineer-in-charge.		each	1176.00	14112.00
5	Antitermite treatment to the infected wooden items such as doors, windows, ventilators, wardrobes etc in residential buildings.	4000.00	one sqm	4.50	18000.00
6	Antitermite treatment to infected walls and floor joints in residential and non-residential buildings. Antitermite treatment to infected open areas around trees and plants.	3000.00	one sqm	4.50	13500.00
7	Anti termite treatment in infected area. Operation includes: drilling holes on walls upside the skirting for every one feet with 8mm-4inches drill bit, one side of wall inside the hose. Drilling holes on every doors, window frames. corridors and commune areas for evry one feet. Dosage 1:19 litre with water. Active ingradient: - Chlorpyrifos . This termite treatment is applicable for both pre construction and post construction treatment. All material supply is by agency only.		one sqm	103.30	30990.00
8	Treatment and destruction of white ants , nest hills built in the open areas of the township including the disposal of excavated earth to the places and filling with the other pit to be made to the extent for removal of queen nest shown to the department for a check.	300.00	nos	11.29	3387.00
9	Treatment to the bandicoot holes and destruction of bandicoots by applying rodent treatment and eradicating the bandicoot menance completely.	500.00	nos	4.90	2450.00
10	Removing beehive of any size carefully in all levels at stage beams, columns, slabs, ladders etc., in the over head tank or other buildings / structures etc. While removing beehive, the contractor should follow all safety rules & regulations, all as per instructions of Engineer-in-charge.	30.00	nos	588.00	17640.00

PRICE BID Tender Notice No: HY/TA/OT-06/2022-23, Dt: 18.06.2022

Name of work: Larvacidal operations and anti-termite treatment in Township

S. No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
11	Eradication of rats and bandicoots in the buildings mentioned below. The agency should apply the chemical /keeping glue pads once in a week and remove the dead ones immediately from the buildings / work centers	500.00	One Oper.	78.40	39200.00
12	Controlling stray dogs found in the township area by suitable method as prescribed and explained by the department supervisor concerned including the disposal of dead animal by way of collection, carrying and burying them in a scientific way at the places as directed by the department including cost of materials and machinery required etc for stray dogs.	150.00	nos	513.68	77052.00
13	Controlling pigs found in the township area by suitable method as prescribed and explained by the department including disposal of dead pigs by a way of collection, carrying and burying them in a scientific way at the places as directed by the department including cost of all materials and machinery required etc., complete.	150.00	each	513.68	77052.00

Note:

All the required chemicals / materials / equipments / transport / arranging manpower etc is in the agency scope only. BHEL will not provide any of these. All the chemicals should be of approved brands. It is agency responsibility to keep all the chemicals in safe custody of agency only and after usage, safe disposal of used chemicals / containers in a proper scientific way.

way.					
		Total Estimate Work (A) = Rs. 597036			
	Tender %	on A			
	In Words	In Figures			
Excess					
Less					
Estimate					
*	The bidders are required to quote the tender value on percentage (%) basis at excess or less or on par with estimated value in figures and words. Bidders are requested to fill only one row.				
1	Risk Purchase : In case the contractor fails to execute the work within the scheduled time or due to any other reasons, BHEL reserves the right to get the same completed through some other party at the risk & cost of the contractor and any additional expenditure incurred due to the same shall be charged to the contractor.				
2	All the materials are in the Contractor Scope Only. BHEL Will not give any FREE Issue Materials.				
3	The rates are excluding taxes.				
4	The maintenance period is NIL. The security deposit will be released after satisfactory completion of the work and after getting I.R clearance and payment of final bill.				
5	Penalty terms: a) In the event of delay in supply of goods and or services beyond contractual delivery date, penalty of 0.5% perweek or part there of shall be levied on the gross value of work done subject to a maximum of 10% of the gross value of the total work executed. Penalty amount so determined along with GST if applicable thereon shall be recovered. b) 1) If the agency fails to commence the work within 15 days from the date of LOI, a penalty of 0.5% per week delay, subject to a maximum of 2% of the gross value of work will be applicable. if such delay extends beyond 4 weeks from the date of LOI, then BHEL reserves the right to take strict action without any prior notice				

PRICE BID

Tender Notice No: HY/TA/OT-06/2022-23, Dt: 18.06.2022

S. No	Description	Qty	Unit	Rate in Rs	Amount (Rs)	
6	<u>Taxes:</u> Bidders shall quote their Basic price exclusive of taxes. The applicable taxes on supply of material or services, as the case may be viz.GST shall be quoted separately, clearly showing the Service Code/Tariff Head, Rate of Tax and Amount of Tax in the Bid. The reimbursement of taxes to the contractor is contingent upon fulfilment by the contractor of all statutory provisions as stipulated in the relevant taxation statue enabling BHEL to avail the eligible input tax credits. TDS at the rates prescribed under Income Tax Act shall be deducted from the payments due to Contractor and BHEL shall issue the necessary TDS Certificates for such deductions made.					
7	The tender % age quoted by the contractor shall be from time to time.	inclusive of	all taxes and d	uties other thar	GST as applicable	
8	All the bills of the contractors will be cleared subject respect of compliance of all statutory requirement, is	sued by IR s	ection of HR de	epartment BHEL		
9	The agency shall submit the I.R. clearance certifica Finance within one month from the actual date of co	mpletion of v	vork.			
10	The agency has to pay the minimum wages to workers with statutory payments like ESI, PF etc., is as per BHEL notification and as per NIT. For USW= ₹558.00, SSW= ₹ 595.35, SW = ₹ 631.15 + ESI + PF + PPE's and other statutory if any increase in future DA is to be borne by the agency.					
11	The agency has to bring police clearance certificate	for the work	force.			
12	All the terms and conditions of the contact with respect to taxes & duties are subject to the new taxation laws introduced from time to time (e.g. GST). The terms and conditions will be modified in accordance with the provisions of new laws (e.g. GST).					
13	Payment shall be made stage wise on approval from	engineer in	charge			
14	Vendor shall raise GST invoice on BHEL Hyd GSTIN	l.				
15	If BHEL is unable to avail the input tax credit, the sar	me amount s	hall be recover	ed from the ven	dor bills.	
16	Use of stone dust is not permitted in any civil works.					
	GST CLAUSES					
	Following points to be complied with :					
17	In case GST credit is delayed/denied to BHEL due to non/delayed receipt of goods and/or tax invoice or expiry of timeline prescribed in GST law for availing such ITC, or any other reasons not attributable to BHEL, GST amount shall be recoverable from vendor along with interest levied/leviable on BHEL.					
18	In case vendor delays declaring such invoice in his return and GST credit availed by BHEL is denied or reversed subsequently as per GST law, GST amount paid by BHEL towards such ITC reversal as per GST law shall be recoverable from vendor/contractor along with interest levied / leviable on BHEL.					
19	The bidder shall arrange to send to BHEL, Hyderabad along with all the required documents as in Purchase Order, Tax Invoice (Original for Recipient) along with his bills.					
20	Vendor to ensure correct applicability of IGST/CGST/SGST/UTGST based on the Inter /Intra state movement Supply of goods and services or both.					
21	Taxes and duties prevalent on the contractual delivery date or the actual delivery date (in case of delay) whichever is lower shall be applicable paid. Composition Scheme to be addressed.					
22	Vendor shall note that the Invoice has to be raised quoting HSN Code of Goods or Accounting Code of Services or both wherever applicable.					
23	Invoice should mention BHEL-HPEP-HYDERABAD GSTIN: 36AAACB4146P1ZG or GSTIN of BHEL Nodal Agency					
24	In case of any short supply of goods or service Vendor has to raise a credit note for short supplied quantity as per GST provisions.					

PRICE BID

Tender Notice No: HY/TA/OT-06/2022-23, Dt: 18.06.2022

S. No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
25	Any GST liability arising on BHEL under reverse of invoice thereof would be subject to recovery of interestual date of eligibility of ITC based on receipt of glaw, as applicable.	est leviable f	or the period be	etween the date	of such liability and
	Supplier shall mention their GST registration number in all their invoices and invoices shall be in the format as specified/prescribed under GST laws. Invoices shall necessarily contain Invoice number (in case of multiple numbering system is being followed for billing like SAP invoice no, commercial invoice no etc., then the Invoice No which is linked/uploaded in GSTN network shall be clearly indicated), item description as per PO, Quantity, Rate, Value, applicable taxes with nomenclature (like IGST, SGST, CGST & UTGST) separately, HSN/ SAC Code, etc.				
27	A declaration to the effect that all tax liability as per 0	SST rules an	d regulations sl	hall be discharg	ed.